     Section 1.9


     Precalculus

Name __________________
     Worksheet






Period ______                                                             
1) For the specific points (-9,4), (-6, 3), (-3, 2), (0, 1), (2,-2), (4, -5), (6, -8),
write the ordered pairs of the inverse of the points above.
2) Use the composition of functions to verify functions f and g are inverse functions.   
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     3)  Sketch the graph requested for each of the following.   
     A) a function that is not 1 to 1 

 B) a function that is 1 to 1

[image: image1.wmf]1

()412()3

4

=-=+

fxxgxx


 4) Find the inverse of 
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 using the steps listed below.  

       a)  Replace f(x)  with y.

b)  Switch x and y.


c)  Solve for y.

d)  Replace y with inverse function notation.

Write a T-Chart for f(x) then state the Domain of 
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Domain of 
[image: image6.wmf]1

()

fx

-

= ______________  
	x
	f(x)

	0
	

	1
	

	2
	


5) If 
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, 3), (10, 1)}, 

then 
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= { (      ,     ),(      ,      ), (     ,      )}. 
6) Sketch the graph of an odd function that does not have an inverse function if it is possible. Otherwise write “not possible”.  Remember that odd functions are symmetric to the origin.

   7)   The graph of a function is must pass the ______________ line test.

If the graph of a function passes the horizontal line test, the its ____________


is a function.  If the graph passes both the vertical line test and the horizontal line test, then it called a   _______ to _______ function.
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